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Organic Light Emitting Diode (OLED)
is a thin-film light-emitting diode where the
emissive layer is an organic compound.
OLED is composed of anode, emissive layer,
and cathode. After applying an external
field, electron injects from the cathode, and
hole injects from anode. Electron and hole
combine in the emissive layer resulting in
electroluminance (EL). One of the many
benefits of an OLED display over the
traditional LCD displays is that OLEDs do
not require a backlight to function. This
means that they draw less power and, when
powered from a battery, can operate longer
on the same charge. This study try to
investigate the situation about safety and
health problem they face and find out the
potential hazards they will meet.
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